SAINIK SCHOOL CHANDRAPUR

Summer Vacations Assighment

Session -2024 - 25

Class - IX (Mathematics)

Instructions:- Assignment should be done in 100 pages notebook or

project paper which should be compiled in a file. Assignment should be

submitted on the very first day of reopening of the school.

Important things to remember :-

1. Learn mathematical tables from 12 to 25 to increase your

calculation speed.

2. All MCQ questions should be solved in detail.

3. Complete your vacations task on daily basis. (Max 7 to 8 examples)

Don’t try to complete it in one or two days.

4. Don’t try to copy it from any sources, don’t do calculations on

mobile or calculators.

5. Don’t complete your assignment on time. It is for your practice

which will boost your confidence and will keep you in touch with
Maths.

6. Happy Vacations, along with lots of enjoyment , daily take out 1 to 2

hours for your challenging subjects.



MCQ WORKSHEET-I
LASS IX : CHAPTER - 1
NUMBER SYSTEM

1. Rational number % is equal to:

(a)0.75 (b)0.12 (c) 0.012 (d) 0.075

2. A rational number between 3 and 4 is:

3 4 7 7
= b) — — d) —
(a) 5 (b) 3 (c) > (d) 2

. 3 4 .

3. A rational number between 3- and E IS:
7 7 3 4
r Ty ) &
(a) 5 (b) 10 (c) 10 (d) o

4. A rational number between % and % is:

2 5 4 1
— b) = ik d) —
(a)5 ()8 (t:)3 ()‘1

5. Which one of the following is not a rational number:

@2 ()0 (©) V4 d) J-16

6. Which one of the following is an irrational number:

@ V4 ()38 © V100  (d) -o.64

7. Decimal representation of é is :
(@02 (b)0.5 (c) 0.02 (d) 0.002

8. 3% in decimal form is:

(a) 3.35 (b) 3.375 (c) 33.75 (d) 337.5

9. % in the decimal form is:

(a) 0.83 (b) 0.833 (c) 0.63 (d) 0.633

10. Decimal representation of rational number % is:

(a) 0.296 (b) 0.296 (c) 0.296 (d) 0.296



MCQ WORKSHEET-II
CLASS IX : CHAPTER - 1

NUMBER SYSTEM
1. Which one of the following is a rational number:
@3 ()2 (c) 0 (d) V5
2. 0.6666in 2 form is:
q
6 2 3 1
2) — b) = €) = d) —
(a) 99 (b) | (c) 5 (d) 66

3 4% in decimal form is:

(a)4.125 (b) 415 (c) 4.15 (d) 0415
4. The value of (3+J§)(3—J§)i5:

(a)0 (b) 6 (©9 (d) 3

2

5. The value of (J§+ ﬁ) is:
(@) 7T+245 (1) 1+5v2  (©) 7+2V10 (d) 7-210

6. The value of (\’g-i- ﬁ)(x/g-ﬁ) 1s:
@10 ()7 ©3 d) \f3

7. The value of (3+J§)(2+J§) is:

(@)6+3v2 +23+/6
(b)3+3J2+3J3+6

(©)6-3v2-23-6
(@)6-3v2+243 -6

8. The value of (Jﬁ+\ﬁ)(\fﬁ-ﬁ)1s

(a) 4 (b)-4 (c) 18 (d)-18

9. The value of (5+J§)(5 —Jg) is :
(a) 0 (b) 25 (c) 20 (d) - 20

10. On rationalizing the denominator of % , we get

7 —J7
(a) 7 (b)% © —= ) V7



MCQ WORKSHEET-III
CLASS IX : CHAPTER - 1
NUMBER SYSTEM

1
1. On rationalizing the denominator of ————=, we get
g ﬁ— Jg g

(a)_://_-z%j_-g- (b)%j_-g- © J7+J6 () V1-V6

1
2. On rationalizing the denominator of ————, we get
& Bz e
5-2 2 =45
@) V5-2 b) V2-5 (c)fsf (d)‘{_3‘/~
1
3. On rationalizing the denominator of , we get
5 Ji-2 ¢
(a) V7 -2 ®) V7+2  (© ﬁ;z (d) @
1
4. On rationalizing the denominator of ——, we get
4 \/5 g
2 J2
(a) 2 (b) V2 (©) = d) =
2 2
1
5. On rationalizing the denominator of , we get
. T e
(@) 2-3 ® B-2 (© 243 (@ -3-2
1

6. On rationalizing the denominator of —————~, we get
N

1
—_—= b) V3 2 2-3 d) —-vJ3-v2
@ = ®) V3+v2 (© V2-v3 @ -B3-2
|
7. The value of 642 is:
(a) 8 (b)4 (c) 16 (d) 32

1
8. The value of 325 is:
(a) 16 (b) 160 (c) 2 (d) 18

|
9. The value of (125)%is:
(@5 (b) 25 (c) 45 (d) 35
3

10. The value of 95 is :
i
18 b) 27 - 18 d) —
(a) (b) (c) (d) 7



MCQ WORKSHEET-1V
LASS IX : CHAPTER - 1

NUMBER SYSTEM

1. The value of 32°° is:
(a) 2 (b)4 (c) 16 (d) 14

2. The value of 16°* is:
(a) 4 (b) 12 (c)8 (d) 48

-1
3. The valueof 1253 1is:

| 1 1 1
(a) 5 (b) 25 (c) 15 (d) 125

4. The valueof 1172 +11"* is:
(a) 11]!4 (b) 113!4 (C) 111!’8 (d) 11“2

5. The value of 647%'% is:

1 1 1
= b) — d) —
(a) > (b) = (c) 512 (d) 512

2
6. The value of (125)3is:
(@5 (b) 25 (c) 45 (d) 35

7. The value of 257 is:
(a)5 (b) 25 (c) 125 (d) 625

8. The value of ﬁ in decimal form is:
(a) 0.099 (b) 0909  (c) 0.09 (d) 0.009

9. Decimal expansion of a rational number is terminating if in its denominator there is:
(@2o0r5 (b)3or5 (c)9orll (d)3or7

10. The exponent form of 7 is:
(a) 73 (b) 3? (C) 71!3 (d) 314’?



MCQ WORKSHEET-V
CLASSIX : CHAPTER - 1
NUMBER SYSTEM

. Which of the following is true?
(a) Every whole number is a natural number (b) Every integer is a rational number
(c) Every rational number 1s an integer (d) Every integer is a whole number

For Positive real numbers a and b, which is not true?

@ =i ) (a+vB)(a-vB)=a-b
© (23t @ (42 +B)(Va~VF)=a+b

Out of the following, the irrational number is
(a) 1.5 (b) 2.477 (c) 1.277 (d)n

To rationalize the denominator of - ,we multiply this by
Ja+b
Ja +b Ja-b

(a) \/E-H; (b)\/— P (c) Tk (d)J— 5

The number of rational numbers between \@ and \/."—) is
(a) One (b)3 (c)none (d) infinitely many

If we add two irrational numbers, the resulting number

(a) is always an irrational number (b) is always a rational number
(c) may be a rational or an irrational number (d) always an integer

The rationalizing factor of 7- 2J§ is
(a) 7-243 (b) 74243 () 5+2v3 (d) 4+2\3

If %:0.142857, then % equals
(a) 0.428571 (b) 0571428 (c) 0857142 (d) 0.285718

The value of n for which \/; be a rational number is
(a) 2 (b) 4 (c)3 (d 5

312

10. equals
2T )

@) % ®VZ  (©3 ) %

ll.(3+\/§)(3—ﬁ) equals

() 9-5v2 -6 (b) 9-v6  (c) 3+2 (d) 9-3v2+33-6




12. The arrangement of v2,45,4/3 in ascending order is
@ V2,V3,5  (b) v2,45,43 (©) V5,43,42 (d) V3,v2,5

13.1f m and n are two natural numbers and m" = 32, then n™ is
5> (b5 (c)5" (d) 5"

14.1f JE =3.162, then the value of i is
V10

(a) 0.3162 (b) 3.162 (c) 31.62 (d) 316.2

6 5 x+2
15.1f [3] x[l—ﬁ] = [i] , then the value of x is
4 9 3

(a) 2 (b) 4 (c) -2 (d) 6



e

PRACTICE QUESTIONS
LASS IX : CHAPTER - 1
NUMBER SYSTEM

Prove that \/g - \/5 is not a rational number.

Arrange the following in descending order of magnitude: $90,%/10,v/6
Simplify the following:

)43 -242) (32 +443)
(ff)(2+J§)(3+J§)

Gii) (V3 +2)
(:‘v)(%ﬁ-%ﬁ-:-ﬁﬂ}{%ﬁwkgﬁ-\/ﬁj

Rationalize the denominator of the following'
. V3442 1
) 07 (1) (i)——=——7F @v)——F=
¢ \/3—\/5 \/_ V2 ~/§+J_ i 8+5v2
3-242 . 3-1 L4 ey |
(V)3+2\/§ (vr)J?:+1 (w[)ﬁ+\/§ (w”)5+3\5
Rationalise the denominator of the following:
v 2 a1
() —= @25 @pd3rv2
e Ja1-s 52
J40 3+~./_ 2443

(!'V)f v) a3 (W)2 NG
win—Y _ i BB 43452
B B Va8 +18




